25 points | 25 points | 25 points | 25 points | 100 points
1 2 3 4 Total

MATH 154 CALCULUS 11 30.05.2012

[zmir University of Economics Faculty of Arts and Seience Department of Mathematics

FINAL EXAM

— kKEN —
Name:........... ey S, CE
Btodemt Ne: ..................co0imimissvimiimineians
TNDREEEEIEE - ... cooiniicnns comnen e oo SEEAERERS BTRS

Section: Check for your instructor below:

Tahsin Oner

Ash Giildiirdek

Sevin Giingiim

Burak Ordin

Gilvene Arslan

Sinan Kapgak




1. (a) Find the maximum and minimum values of f(z,y) = #* — 20y + 2y on the
rectangle: 0 <z <3,0<y<2
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2. (a) Sketch the domain of integration and evaluate the given integral:
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3. (a) Evaluate the volume of the solid that lies within the cylinder 2% 4y* = 1, below
the plane = = 4, and above the paraboloid = = 1 — 2? — 3*.
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(b) Convert the cartesian coordinates (—v/3,3,2) to
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ii. the spherical coordinates.
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4. (a) Solve the given differential equation: Le_+ 3 = ond
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(b) Show that the given differential equation is exact, and salve 1t
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